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Edgeworth Box

Robinson statets out with 10 Cobstees and 5
coconuts. SFeiday stacts out with 10
lobstezs and 5 coconuts. Aptez teading,
Robinson ends up with 8 Cobstezs and 10
coconuts. Robinson pjeels neithetz bettez
noz woese opp than when he statsted but
cannot get Heziday to agzee to any moze
teades. Feiday pjeels bettez off than when
he statted.

Dzaw the Edgeworth box consistent with this stozy.



Edgeworth Box

SUPPOSE THE MICROECONOMICS CLASS HAS & GRADUATION PARTY BUT A4S & FiNAL

TEST THE STUDENTS MUST SHOW 'THEY HAVUEC LEARNED SOMETHING ABOUT TRADC.
THE MEN ARC GIVEN FOOD WHEH THEY WALK N AHD 'THE WOMEN ARC GIUEN DRINK.
SUPPOSE THEY HAVE IDENTICAL PREFERENCES WHERE FOOD AHD DRENK PROVEDE

UTHLETY ll= Eﬂj ﬂRBmHn

SHOW 'THE CONTRACT CURVE iH 'THE EDGEWORTH BOH
ERPLAN WHEN EHCHANGE WILL BE POSSIBLE @HD SHOW THE CORE

HOW @SSUME THAT THE WOMEN HAUE PREFEREHCES REPRESENTED @S:

U: (it (ann : ﬂHHIH-“)

SHOW THE CONTRACT CURVE @HD 'THE CORE
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SHOW THAT aN tHCREASE
th THE PRICE OF GiFFERN
GOOD MARES THE
CONSUMERS BE'T'TER OFF




Consumer Choice

Aram earns 500 drams per hour. He has 110 hours
per week available for either labour or leisure. In
the old days he paid no taxes and received nothing
from the government. Now he gets a 20000 dram

payment per week from the government and he

must pay half of his labour income In taxes. (His
pefore-tax wages are the same as they were
nefore. And he has no other source of Income
than wages and payments from the government.)

He notices that with the government payment and

his taxes, he can exactly afford the combination of

leisure and consumption goods that he used to
choose. How many hours per week did he work in
the old days?




Production

Cons'der the fO”OWlng Ei i
short-run production : B
function: ;
q=5L"-13L’

At what level of L do
diminishing marginal
returns begin?

At what level of L do
diminishing returns
begin?




